Math 2008
Fall 2010 – Test 4 – Part I
NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this part of the test. Each question is 5 points.

If you need more space for work, please use the back of page 2 or 3.
1. State the Fundamental Theorem of Arithmetic. Explain, in your own words, what the theorem states.
2. Solve for x: 
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3. Sketch a proof for: If 9|abcd, then 9|(a + b + c + d).
4. Is 1 prime, composite, or neither prime nor composite? Explain.
5. Find a counterexample, if possible: If 6|(a + b), then 6|a.
NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
If you need more space for work, please use the back of page 1 or 3.
6. Define: rational number.
7. Sketch the proof that ℚ+ is countably infinite (i.e., the set of positive rational numbers has a 1-to-1 correspondence with the natural numbers, ℕ).
8. Model and evaluate: 
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9. Model and evaluate: 
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10. Evaluate: 
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Show all work. Answers with no work or no explanation may not receive full credit.

NO calculators may be used on this test.
If you need more space for work, please use the back of page 1 or 2.
For #11-13, use f(x) = 3x + 2 and g(x) = 2x ( 1.

11. List and explain three (3) different interpretations of a rational number.
12.  Model: 
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13. Convert 
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 into an improper fraction.
14. Evaluate: 
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15. Without using long division, determine if 31968 is divisible by 16? Explain.
Math 2008
Fall 2010 – Test 4 – Part II
NAME_______________________________________________________

Show all work. Answers with no work or no explanation may not receive full credit.

NO technology other than calculators may be used on this part of the test.
16. Is 
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 a repeating decimal or a terminating decimal? Explain.

17. Find the numeral in the 13th decimal place of 
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. Explain.
18. Order the following from smallest to largest: 
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. Explain.
19. Find LCM(252,342).
20. Find two fractions between 
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 and 
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. Explain.
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